UBUNGSKONIG
Nachbarzahlen 10

1. Trage die Nachbarzahlen ein.

Nachbarzehntausender

Vorganger 10 000
Zahl 16 202 62 622 27 229 73 520 54 529 35178
Nachfolger 20 000

Nachbarhunderter

Vorganger 26 500

Zahl 26 519 12 768 31268 52 019 17 368 84 911
Nachfolger
Nachbartausender

Vorganger 12 000
Zahl 12 165 51992 34 268 28 951 80 263 16 624
Nachfolger

2. Rechne mit verwandten Aufgaben.

200 + 800 = 120 + 690 =
2000+ 8000 = 1200+ 6900 =
20 000 + 80 000 = 12 000 + 69 000 =
547 + 290 = 278 + 600 =
5470+ 2900 = 2780+ 6000 =
54700 + 29 000 = 27 800 + 60 000 =
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